T3 |ERTL7 bavyTFo/ AV =y )a—aryI%Astt| X—H— TEEes | 80.1| 71.4 | 8.66 | 200 | 126
74 |[EREKRASHT IVRX | F—Lv7 799|758 4.07] 98 23
75 |HMEBSIKEASHT IT Sler 79.7 1 NR NR NR NR
76 |KRASHIX T4 T4 - T—X& IT Sler 79.71 74.6 | 5.05 ] 129 52
77 |7 a Ry BAstt A—Hh— |- FEF{| 796 71.8 ] 7.84 | 184 | 106
78 |HEBSKAST X—Hh— MR | 79.4 | NR NR NR NR
79 |[Yaz—Fy b7 =7 Z%AEH IT WEBH#—tEX| 79.4 | NR NR NR NR
80 KAt xILAY IT WEBH#—tEX| 79.3 | NR NR NR NR
81 [ st~iL/ v Ty X |7za-zx>+| 793 766|273 ] 85 3

82 |F ALtk &tt IT WEBH—tE X[ 79.3 | NR NR NR NR
83 |MHEH Y s IL— b REYy T4V YP—Ex |AMH—Ex| 793|778 148 65 | -19
84 |T—TRIT LTI - Py /v EH A—H— ¥Eees | 79.1 | 74.60| 4.46 | 130 45
85 | FAX - avHiTav T - T—7 H—EX |avvrrars] 79.0 | 748 | 415 | 121 35
86 |NGB#==#: H—EX |avorrers] 7891 NR NR NR NR
87 |MkA&HT o/ bR=o R&TIL—7 A—h— | ¥ZHeE [ 788 NR | NR | NR | NR
88 |Fi 577 /00 —-X(kASH A—H— WEEH | 78.8 | NR NR NR NR
89 |RUTZRF vy AkA &1 A—Hh— [feFE-ER| 788 NR NR NR NR
9 [BXRZ4 774 vHKAsnt A—h— | EEEE [ 787 NR | NR | NR | NR
91 |72 T NIRRT LAY vV ERESH Y—ER L 78.6 | 76.4 | 2.24 1 90 -2
2 |[ZHFHEL Ty v KR EHR TghE | FBHEES| 785|800 ([-1.51| 40 | -53
93 |KAESHY JIL—biRk—ILT 4 v TR Y—EXR |AMY—EX| 78.4171.80] 6.64 | 186 92
94 | RFMEESKEA ST Gt RS 78.4 | NR NR NR NR
95 [Skyk=i&# IT Sler 78.3 174.60| 3.68 | 126 29
96 |MkAsHEy IV =T/ R —=&aAVHILTa VT | H—ER |avyrzars] 780 NR NR NR NR
97 |7 NF— P& H—EX |avyrrars| 779 176.20( 1.75 ] 93 -6
98 |HARGLPHINS4 TBE FREY/—] 779 NR NR NR NR
99 |EEEYKASHT TEYE FRAay/—| 77.8 | NR NR NR NR
100 [WMHEMKKA = L wemt | 77.7 (77.200 052 72 -31




